
52 Side brush
Professional \ Systems engineering \ Wash units \ Commercial vehicle \ RBE 6315 \ Documentation RBE 63XX \ Spare parts list RBE 6000 \ Brush shaft \ Side brush

Page 1 / 2



52 Side brush
Professional \ Systems engineering \ Wash units \ Commercial vehicle \ RBE 6315 \ Documentation RBE 63XX \ Spare parts list RBE 6000 \ Brush shaft \ Side brush

Page 2 / 2

POS Article no. Description Quantity Unit Foot note text
13 5.762-192.0 Brush half shell densely grey 965 6.000 ST GREY
5 5.762-065.0 Brush half shell densely white 965 1.000 ST WHITE
2 5.762-042.0 Brush half shell normal white 965 1.000 ST WHITE
5 5.762-054.0 Brush half shell normal yellow 965 1.000 ST YELLOW
1 4.100-069.0 Brush shaft 1.000 ST FOR 16 BRUSH ELEMNENT
4 4.122-028.0 Flange complete 1.000 ST
10 7.304-537.0 Hexagonal head screw M 8x30-A4-70 ISO 4 2.000 ST
7 7.304-503.0 Hexagonal head screw M16x55-A2-70 ISO 4 6.000 ST
11 7.311-068.0 Hexagon nut M 8-A2-70 ISO 4032 2.000 ST
8 7.311-225.0 Hexagon nut M16 -A4-035 ISO 4035 6.000 ST
3 5.042-317.0 Holder brush holder 1.000 ST
9 6.343-194.0 Lock washer 17 12.000 ST
6 7.318-047.0 Parallel key 14x9x160-C45R DIN 6885 1.000 ST
12 7.312-022.0 Serrated lock washer A8,4-1.4310 DIN679 2.000 ST
1 4.100-075.0 Side brush shaft 1.000 ST FOR 12 BRUSH ELEMENT
1 4.100-077.0 Side brush shaft 1.000 ST FOR 15 BRUSH ELEMNENT
1 4.100-076.0 Side brush shaft 1.000 ST FOR 14 BRUSH ELEMENT

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

